CAT - 2007
Stage -1

Time : 1 % hours Full Marks : 50

|, Fioa Heiafea Taa whe 3 1x15=15

a) FIETE 7 SEFS Horsnivg s F |

b) R (@ 4g ISNF 2

c) 9% I Sits T (Ve WS IO ?

d) TP E IO SITeBy a1 | '

e) @ G TAFASNE AT 05 (TNt I/ IEN 2 YA ?

f) =g Traida @w @fdce T3, o369 ¢ s 93 57 a3
G TSHIN 2

Q) CNG @7 s=j+f =115t fa |

h) oreet @ FIHG [ Semers N & e

i) G = wfwa @9 2 PIT 9

N 17 Arafars @ GEtoE 73 chs Wi wifslze o e ¢

3] S FISIHICE (A GIE0E NRIae] $90 S8, ¢

) “FHWIR WY -9F T [ 2

m) “fEnifRa -ag ammEe T fHy

n) SGICS! B 5137 ALFS &7 |

o) G G0 A QTG SHEPIECEAT NI T ! SR A9

G 7R S T | GF 515 ARES R |

1. Fior e (e eprefes Seg ahe o- 2x 10 = 20
a) Eifs ~mmigita 2een- [ 3 a3 37 - Arfce
(I AT @R @I TS SIRfEe fF |

b) HISHFF @ ARIRFIF W 2Ny ferdd |

c) FIENR SN S0 9% FAI 9

d) 50°C Si=ISEaE 750 mm 51Tt 5 gm SifAGew Foxifa simes
wele] S ¢ [T s-ks e 26]

e) Q= 915 ST w9 T WA RfEmm ot S sl Seolg




5y 9
f) (FG ABHROTE S6Y FACA S T el b4 3 (74 |
g) (bl ammafs s Y 3R ) eRia R 0
h) S EATGE [ 2 Swiggd wie |
i) SRS @ SRS g AUEe @Y a3 «@fb = a
THIEEE WG |
i e FREaaa el am 3t s
KNO, + FeSO, + H,S0, = Fe,(S0,), + K,SO, + NO+H,0
il v eu@aBeame i 5x3=15
a) Rd SE SRA-G %SRS o 2o B e ¢ SefAe
F-TIZ-TFBT AP T D ? AN I 59 |
b) AfHels (g fowit (e &= @ Sfbe ¥397-ag
AT SAfFadaaf ARk 72 Sy 9

c) 925 (TETR 21T FIF 8 SDRY JANF 13 @R 27,
chelba feigamize werefdy 1w e wn e Giafba aw & 2

d) 3.2 g fSrzeie wfsice w1at = vz F9c 8.8 gm FIEA-
TR-HEE 93¢ 7.2 gm e Seoln 2| (RIS (X, 2WE T G(AR
ferere! g srwels 07 |

e) o= ferg Mers 22.66% forF 9k 43.9% T =z |
13.7 &% TS (93] FIACS FOGS 6% A4 2 [ Zn=65.38]




"CHEMISTRY APTITUDE TEST - 2008

'_d)

| STAGE -1
Time - 1.5 Hrs. ' Full Marks - 50
Q.1 Choose the correct answer : 1x18=18
a) When steam passed over three moles Red hot iron the
amount of hydrogen gas evolved.
i)2gm. ii)4gm. iii)6gm. 1iv)8gm.
b) Inthereaction. which element oxidised.
Mno, -+ 4HCL = Mncl, + 2H,O + Cl,
YMn. i)H #1)Cl iv)O
¢} The formula of bleaching powder 1s
i) Ca(ocl)cl ii) Caocl iit) Ca(ocl), iv) CaO,Cl,
Number of oxygen molecules in eight gm. of oxygen.
Y iNe iy Mo o NoooNo |
1) No. 1%) a 1ii) 3 iv) >
e) Which Compound does not obey octed rule.
) BF, i) NH, 1ui)CH, iv}H,O
) Which substance responsible for Diabetes.
i) Haemoglobin ii) Insulin iii) Vitamin iv) Glycerin
2) Which one is end product of protein metabolism.
i) Nucleoic acid ii) Enzyme iii) Urea 1v) RNA
h) Which Compound is alcohol.
i) Glycerin ii) Naphthalein iii) Phenol 1v) None
1) Less Percentage of Carbon present in.
i) Steel 1i) Castiron iii) Wrough iron iv) None.
1 Which element reacts with both acid and alkali.

1)y Mg. i) Zn. i) Fe 1v) K.
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o)

p)

q)

Q.2

b)

When cu-turning mixed with an Conen. acid and heated
strongh with a nitrate salt, brown fumes cvolved. The
Concen acid used.

D HCT u) HBr 1) LSO, iv)y HNO,

Aoy German silver Consists of

1) Cu, zn. Nt 1) sn.cu. Al niyeu. zn. Ag iviAlL cu. Mn

When 24 gms of Magnesium burns in sufficient CO,,
Amount of Magnesium oxide obtained.
)36 gm. 11)40gm. i) 28 gm. iv)4d4 gm.

Fullerene is carbon's
1) Compound ii) Allotrope iii) [somer iv) Mesomar.

Which ot the following element is strong oxidant.

pel, F, ii)l, iv)Br,

2 Methyl propan -1-0f is a, alcohol of -

1) Primary i) Secondary 1iii) Tertiary 1v) None.
Oxalic acid is a di casboxylic acid having molecular
weight -

1})90 1) 126 1) 63  1v) 60

The weight of Diamond Kohinor during Moghal period

was -
1) 100 gm. 1) 200 gm. iii) 38 gm. iv) 50 Caret.

Answer the following questions : 2x10=20

An element at no. 12. What are the no. of electrons in its
k-shell. What 1s its position in the periodic table.

. - 234 . o
A radio active element o0 % emits one ulfa and two &

particles. What will be the atomic number of the new
element.



¢) Of the three elements, A, B, C. B is inert gas. other
than hellium. What type of compound will be formd by
AandC.

d) Differentiate :
1) Ionisation potential & eletron affinity
11) Homologous series and Catenation property.

¢) Anacid in water dissociate almost Completely and the
acidisknownas................. acid. And another acid gives 2
to 3 H ' ions from 100 molecules of the acid and the acid
iISknown. ad.ce acid.

f)  Mention two solutions that can absorb O, gas.

g) lon free water is soft water but all soft water are not ion
free - explain.

h)  Under What Conditions NH, and Co, react to produce
urea. Write equation.
Write the IUPAC name

GH,

NCH = C - CH — ¢H.
ii) C Cl, CHO

1) Whatis occlusion, show that occluded hydrogen is active
than ordinary hydrogen.

Q.3 Answer the following questions : 3x4=12

a)  Two organic gas on passing first through a solution of

ammon. cuprous chloride - ared ppt. is obtained. and the
other gas is allowed to pass throuh a ozone and then
hydrolysed in presence of zn. When two molecules of
Methanal is obtained only. Identify the gas with chemical
reactions.
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o) Fe, Mg, Zn, Cu €I3ofs AFaers v W wree 2
(1) Fe<Mg<Cu<Zn
(1) Mg>2Zn>Fe>Cu
(iii) Zn <Fe < Cu < Mg
(iv) Cu>Fe>2Zn> Mg

A3 el Tea we ¢ 10 x 2

a) O30 CGNEETA 90 WRGHADA |, x 8 | x I 3:1 s
TR | GTEAGR SaNrRs o7 Adn 31

b) 120 == CeTs | By T3y o [ieT @ 93 v3e
cael Seolm He3 | RiTme wfissawe |

c) TANTY Sfbe RTTs FHWIRE, ST ¢ Bide Rugzs
AT TAE ¢

d) ¥eTd @EEE B9 50 C.C Irdq-0fF wHZG 515 5o 3
T} FwjefRAeel BN ARG SIICT S ES 29 | s S
ARG G WS T w5 |

e) SrEREEE «ira 50T FG 5 A WA — &= ?

D 9l TGS 25% YT TEN | O FIAHST LTS
IGEEETA

g) g0 [ YTH s Frod weeTa F7ex RRierm aca s wagesef
@ Fta | soh wfgs #AFwe oo o i aaE wml
Wit wAge =W e | AT & 2 Rivws sanis
TRNEI NG |

h) Table salt {& # 97 T=w @d AgNO, H39 @9 T &

A SRR R

1) T AW 2BiFEam GRicEss o lRaasns 9 6 g wisres sihnew
T ¢

J) e 3w sEea I

erafem Ter we ¢ 5 x3

a)

A @2 B 120 ATeTg Aesiafis oS I00@ i 16 932 19

(i) CTet vEioR Teregw e & |
4



b)
<)

d)

e)

(il) TR 0 PG @ (FH6 SHIEH 0ofd TACR 2
(iii) g2 =T ey CNeR AT T4

T8 (T, 2 HS + SO, = 3 S + 2 H,O RfFwics was-Remd
Foroie TGS TR | IANG (IR wEF 6 @S Ro=s Sard
$A|

8 5 IS GBS AN ST @ 5L 56 TH I SWasw 7wl
A | BT WRT o1 [T $9 1 ETo-suitibt wIct e
TG = ST AT BICA! 20 QI | ST A8 A i ¢

TR GRIEEITIS aAgS e @ w9ed 93T soifa
BTG oAl S TI FOR IR IR 28 I | s

FII5! T ASICS TIZT T 2 | PG 01 9 | 2IESE
FNSad o |

Ao (AsaE aRes Awes ford 2
() wEswd Shm=s

(i) QI FIH/H

(iii) eRwts abre

(iv) CIeEis

(V) QT

(vi) TF=Fal



